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(1) AABC: | (AB) = 5@, | (BC) = 5.5%, | (AC) = 6 @t
(2) ADEF: m Z D=35°, m £ F=100° | (DF) = 4.8 @tft

(3) AMNP: | (MP) = 6.2, | (NP) = 4.58tft, m L P = 75°
(4) AXYZ:m ZY =90°, | (XY) =4.284#, | (XZ) = 7@t
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g forenui U8 $e1 g8 TeHh B @ |
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(1) TgH 1 TR YATU a0 Ueh forerut foam = gt at wgyst <t o1 e |
3ar. [JPQRS &t =1 &0 /e, 1(PQ) = 5.6 3+t , [((QR) = s &, | (PS) = 4.3 &,
| (RS)= 7%, | (QS)= 6.2 | S 7 it R
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[ WXYZ tar st T, | (YZ) = 43+, | (ZX) = 6 351, | (WX) = 4.5 g,
| (zW) = s&ft, | (YW) = 6.5 &,

el ST SAIST, | & 75 SHehRI 3TThid H [C@T3T |

JMhfd & &I | AT B h A WXZ au Y

A WZY % gt yeeit 1 et g v e 4.5 &
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[] LEFT < w1 hifste forem, | (EL)=4.5 &, | (EF)=5.58, m £ L = 60°,
m~Z E=100°, m £ F=120°
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4.5 Gt T« A1t W@ LE @iEet 36 fag B
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T 120° TTT T I S Gt foheor = |
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(IV) TgHS <t dH YSITE qM 399 TuTierse Shivt fdU 710 g at TgHs <ht T e |
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1. TSI <t AT i |
(1) [JMORE 3 I[(MO) = 5.8 @, [(OR) = 4.4 3#t, m£ M = 58°, m£ O = 105°,
mZ R =90°|

(2) [] DEFG Tt Eitau % |(DE) = 4.5 @, I(EF) = 6.5 @+, [(DG) = 5.5 @,
|(DF) = 7.2 5, (EG) = 7.8 9 |

(3) [] ABCD # I(AB) = 6.4 3}, |(BC) = 4.8 i, m£ A = 70°, mZ B = 50°,
mZ C = 140° |

(4) [] LMNO difew 5@ [(LM) = [(LO) = 6 @fi, [(ON) = [(NM) = 4.5 @,
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(1) 95 QR AT Y11 PS §7 HHHE YTl 1 AelTg hT 7O, S
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(2) ST PQ QAT YT SR hi TS T HIIH HIFT |
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(1) 3TIa shY FegE YoTd Erertme gt € | E 5
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1A I AT | v
(i) TG o FHE H e € | A
.. mZBES=mZBTS =110° T S
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@'ﬂmﬂgﬁﬁ (Trapezium) j
o =gy % T el it U & T TR 2l R 36 Sy e agye dEd g |
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3Tl H [] ABCD <@l | 38 9Iq4l 1 faepui BD, faepul B
AC =1 & THEIHTS 3 | A C
fa =qdw 1 v et g foreut o o wwgfavTe
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(i) (QR) = I(PS) = 543t ... U@ YT FaiTed
(i) [(QS) =2 x I(TS) =2 x3.5=78df ... ferepul v Trefamia e § |
(ili) MZQPS = mZQRS = 118° ... TEE IV T
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(DA I(WZ) =4s58ft@l(XY) =7 7
(2)afke I(YZ) = 8.2 @@t grar [(XW) = ? m
(3) a2 1(0X) = 2.5 @R A (07) = 7 N~ y
(4)afe [((WO) = 3.3adtgrar [(WY) = ?
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6*. ] PQRS & w1 hifore f&w [(PQ) = 3.5 8, [(QR) = 5.6 &, [(RS) = 3.5 @i,
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